FORMAT RESOURCE: AZMERIT ITEM TYPES
	ELA ITEM TYPES
· HOT TEXT
· MULTI-SELECT
· GRID ITEM
· MULTIPLE CHOICE
· OPEN RESPONSE




ELA EXAMPLE 1: HOT TEXT
After reading a passage, answer the following:

Part A: 
Select the author’s purpose for writing this text. 

Part B: 
Select a sentence from the text that supports this purpose. 

OR
The author is concerned about the loss of _____ in our society. 
Select a line in the first paragraph that demonstrates how the author distinguishes the point of view. 

ELA EXAMPLE 2:  MULTI-SELECT
These will commonly have key words such as:  “select all” or the fill in space will be square rather than circular.  
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ELA EXAMPLE 3:  GRID ITEM
Requires the student to drag descriptions, analyses, or elements of a poem’s structure into a graphic organizer. This will likely be numbered or lettered on the paper test.  
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ELA EXAMPLE 4: OPEN RESPONSE:
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FORMAT RESOURCE: AZMERIT ITEM TYPES
	MATH ITEM TYPES
· MULTI-STEP RESPONSE
· EQUATION RESPONSE
· MULTIPLE CHOICE RESPONSE
· GRAPHIC RESPONSE – DRAG AND DROP, DRAWING, HOT SPOT
· TABLE RESPONSE
· NATURAL LANGUAGE RESPONSE




Math Example 5: Multi-Select
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Math Example 6:  Equation Response[image: ]
Math Example 7:  Graphic Response
[image: ]
Math Example 8: Table Response:
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Example 9:  Natural Language Response
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Other Math Examples:
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The table shows the amount of money in Jody’s bank account on certain days.

Jody's Bank

Account
Da Amount
@ |
2 $ 83
5 $143
7 $183
11 $263
15 $343

Create an equation that models the relationship between the day, d, and the amount of money, a, in Jody’s bank
account.
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Use the Add Arrow tool to graph
a line that has a slope of -3 and
a y-intercept of 2.
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Fabiana asks 50 students at her school if they own a bike. She finds that more girls own bikes than boys.

Complete the two-way table to show one possibility for Fabiana’s results.

o Do Not Own
Own a Bike a Bike Total

Boys 12 L =

Gls | L ] 2

Total | ] so
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Michelle is building a rectangular Ianding strip for airplanes.

She has enough material to cover -—~— of a square mile. The landing strip must be é of a mile long.

1, 500

With the amount of material that Michelle has, what is the greatest possible width of the landing strip, in miles?
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(11 I

Dragbone set of absolute value
symbols to the right side of each
inequality to make the inequality
true.

-4 x 3-5 >-4x3-5
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Select one phrase that describes the sum or difference of each expression.

Greater than zero Less than zero Equal to zero

7-(=7) O ) )
7+(=7) O ) )
(=7)+(=7) O ) )
7-7 0 0 0
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What three details can the reader get from both the map and the passage?

[
[
[

the state where Bridger died
the route of Bridger's travels
the location of Bridger's Pass
the state where Bridger was born

a place that was named after Bridger
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Place the phrases about Jim Bridger’s life in the correct locations on the
timeline.

Jim Bridger Timeline

1820 [1830 |1850 [1860 |[1870

began [discovered| reached ) becarrtne
exploring| shortcut | the retired | part
Mice i |ethrough | Great | 'beaver-

issouri i i e
e Rocky| ¢ 19 | Missouri | trapping

River |Mountains company
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Why does the author use the word “'peetrified’” instead of “petrified” in this
sentence?

“He would tell stories of glass mountains, “peetrified” birds singing
“peetrified” songs, and talk about the days when Pike’s Peak was just a hole
in the ground.” (Paragraph 6)

Type your answer in the space provided.
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Select all the statements that are true about %

[ Itis a rational number.

[ Itis an irrational number.

[1 When it is written as a decimal, it terminates.
[ When it is written as a decimal, it repeats.

[ Itis an approximate value of pi.

[ When it is written as a decimal, it is equivalent to 3.10.




